ohdA] 2x3 +ax® + bx +8°] x— 13 x - 22 Z}Z} Yipo] Hojx &
= A a, b9 27
®a=-2,b=-8 @ a=3 b=14

® a=-1,b=-3 @ a=4, b= -2
® a=-3.b="7



2. xol WA &3+ ma? fnx+1& x— 12 YR Lo gl 1,
x+ 22 Y Y27t 3olt}, o] W, m —n 9] 3127

D -2 ® -3 B -4 @ 2 B 4



2+ 3x2 +kx—k7F x + 1 2 Yoo & A k

B 1

@ 0



. o
"l‘?ﬂka

u) 53t oA S

zPAHor ot ek i =1L W, a+b+c9

xof tit FA] 3t ax? +bx+cE x-12 Lt
et 2o
e A A ALY
111 a b c
d e f
1 g h u
D -2 ® -1 3 0 @



5. 23492 +1lx+7=a(x+ 13 +b(x+ 1) +c(x+1)+d 7} x°l
et AL W, a, b, ¢,dE A= F5HH?

D3 -1,3 2 @ 2,3 -1,3
® -3, 1, -3, -2 @ -2, -3, 1, -3

® 1. -3. 4 -2



